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QUESTION 1

By default, how long will an AP scan a single channel when ARM is enabled? 

A. 80 milliseconds 

B. 90 milliseconds 

C. 100 milliseconds 

D. 110 milliseconds 

E. 200 milliseconds 

Correct Answer: D 

 

QUESTION 2

A Remote AP provisioned in "Split-Tunnel" Forwarding mode has which of the following characteristics?. 

A. Local traffic first goes to the controller and is then spilt back to the local network. 

B. User Traffic is CPSec encrypted before it is sent to the controller. 

C. The user role must have a "Permit" statement in order to locally bridge the traffic. 

D. The user role must have a "permit dst-nat" statement to locally bridge the traffic. 

E. The RAP uses UDP 4500 to send traffic to the controller. 

Correct Answer: E 

 

QUESTION 3

(group8) #show ap arm history ap-name AP1 Interface :wifi0 ARM History 

Time of Change Old Channel New Channel Old Power New Power Reason -------------- ----------- ------------------- ---------
------ 2015-1-28 07:58:53 157+ 149+ 21 21 I 2015-1-28 07:52:06 149+ 157+ 21 21 M 2015-1-28 07:16:59 157+ 149+ 21
21 I 

Interface :wifi1 ARM History 

Time of Change Old Channel New Channel Old Power New Power Reason -------------- ----------- ------------------- ---------
------ 2015-1- 28 08:52:53 6 1 21 21 I Referring to the output above. What can you conclude about AP1? 

A. This device is scanning channels. 

B. This device is unstable because the channel assignment changed. 

C. The device changed channels recently. 
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D. The device changed channels and power levels recently. 

E. The device is transmitting at maximum power levels. 

Correct Answer: C 

 

QUESTION 4

What are the Airtime Allocation Policy options for Airtime Fairness? (Choose three) 

A. Default Access 

B. Priority Access 

C. Fair Access 

D. Preferred Access 

E. Distributed Access 

Correct Answer: ACD 

 

QUESTION 5

With CPSec enabled, which tunnel protocol is used between APs and Controllers in an Aruba environment? 

A. EAP 

B. SSH 

C. IPinIP 

D. Mobile IP 

E. IPSec 

Correct Answer: E 
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